NOT MEET THE REQUIREMENTS FOR WIND—BORNE DEBRIS
REGIONS.

5/16x1—5/8" LAG
'SCREW AT EACH

REVISIONS
NOTES: 16 GA END STILE, ¢ DOOR I ] DESCRIPTION =3 | serrow. |
1. NON IMPACT GLAZING OPTIONS: 13 GA HORIZ ANGLE 20 GA CENTER STILE 20 GA CENTER STILE [ = | rev e siock 0/2/2017] EC
A. 16 X 9.75 CLEAR OPENING INSTALLED TOP OR ™~ PLACED AT END - Sosz] D | rev per R a/2s/1s | ¢
INTERMEDIATE SECTION. . '31_65!'_ UPDATE_NOTES ADD LHR DETAL 13/19 | _ESC
GLAZING SSB (0.090") MINIMUM. ' — a0 wo/ec oS FOR T | 4712721 | TIC
MAY INCLUDE DECORATIVE INSERTS 13 GA FLAG ANGLE \ . N—
NOT AVAILABLE IN MORE THAN ONE SECTION. .
DOES NOT SATISFY WNDBORNE—DEBRIS. 15 GA W HoRZ —_ | 3 o .
2. IMPACT GLAZING OPTION: : N Lo hd 4
16.75 X 9.75 CLEAR OPENING 5/16x1-5/8" = 0] e ° ol =<
GLAZNG 1/4" GROOVED POLYCARBONATE ALLMINUM Lac sertw e s N e ;,:' ° o ————
ES WITH 10 SCREWS MAY INCLUDE DECORATIVE O] o o] ’
INSERTS INSTALLED.IN- TOP O INJERWEDIATE. SEGTION. AS SHOWN) Md o) —— [ " ||- II_
NOT AVAILABLE IN MORE THAN ONE SECTION. (4) 1/4—20x9/16” LARGE — | y ’ o[ f—nm—" ' B
SEE ASSEMBLY DETAIL ON SHEET 2. HEAD TRACK BOLTS OR ‘.’ l f ———— 6 ‘
O o
3. VINYL OR WOOD DOOR STOP NAILED A MAXIMUM OF 1/1720205LU&S NﬂE [ ﬁ/g ————
6" 0.C. MUST OVERLAP TOP AND BOTH ENDS OF I@;,; / U 1 !
PANELS MINIMUM 7/16” TO MEET NEGATIVE PRESSURES. 15 GA MIN VERT — | ) )‘T‘i—/ I = C o X :
\e/ 1\
4. KEY LOCK, SUDE LOCKS, OR OPERATOR REQUIRED. TRACK el l 0 TEET n
. 1/4-20x9/16" TRACK — | ! d o Ll
5. LOUVER OPTION — .032" MINIMUM LOUVERS IN BOLT AND 1/4-20 HEX . ° g
MOLDED FRAMES SOREWED TOGETHER WITH A MINIMUM NUT AT EACH JB-US 0] ' | w o
F (10) #8x STALLED | BOTTOM JAMB BRACKET LOCATION " b
SECToN. T TOUVERS ARE NOT IMPACT RESISTANT AND DO ° I
AT —10
[ U ——

6. SECTION STEEL TO HAVE A MINIMUM 25 GA
THICKNESS.

7. THE DESIGN OF THE SUPPORTING STRUCTURAL

EI.EMENTS SHALL BE THE RESPONSIBILITY OF THE
PROFESSIONAL OF RECORD FOR THE BUILDING OR

STRUCTURE AND IN ACCORDANCE W

BUILDING CODES FOR THE LOADS LISTED ON THIS

DRAWING.

8. DOOR JAMB TO BE MINIMUM 2 X 6 GRADE 2
SOUTHERN PINE. R TO J

SUPPLEMENT FOR ATI'ACHMENT TD SJPPOR“NG
STRUCTURE.

9. FOR LOW HEAD ROOM LIFT CONDITIONS, TOP
BRACKET SHALL BE A 13 GA LHR 7/4 TOP BRACKET
WTH A MINIMUM OF (3) 1/4—14x7/8" SELF DRILUNG
CRIMPTITE SCREWS IN LIEU OF THE BRACKET SHOWN ON
THIS DRAWING. U-BAR ON TOP SECTION SHALL
INSTALLED ON TOP OF LHR TOP BRACKETS.

SUPERIMPOSED DESIGN PRESSURE
LOADS ON SUPPORTING STRUCTURE
DOOR | 290k | uNIFORM LOAD EACH JAMB (PLF)

ALL +172.0/-191.5
AL +206.4/-229.8
AL +240.8/-2681
AL +258.0/-287.3
AL +275.2/-306.4

\\\\

PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY Fm
VERFICATION OF WINDLOAD CONSTRUCTION

JAMB BRACKET Ca, b

15 GA STIFFENED —/

JAMB BRACKETS o '

SEE SCHELDULE FOR o] —
QUANITY, LOCATION, ° _//-’I
AND TYPE
KEY LOCK OR SLIDE Loek/ O, U

EACH END (NOT REQUIRED
WTH OPERATOR — SEE
NOTE 4). SUDE LOCK

SHOWN FOR CLARITY

NOTE:  (4) SECTION SOLID

DOOR SHOWN.

2 FOR U—BAR LOCATIONS
ON DOORS WMTH OTHER

SEE SHEET

SECTION QUANTITIES AND
SEE NOTES 1 AND 2 THIS
SHEET FOR GLAZING

o
%

i

u i il
il

T

16" DOOR SHOWN. SEE

JOHN E. SCATES, PE

2560 KING ARTHUR BLVD #124-54
LEWISVILLE, TX 75056
FL PE 51737

TX PE 56308/F2203

OPTIONS.
JAMB BRACKET SCHEDULE
DOOR | NO. OF [“BRACKETS BRACKETS MEASURED FROM BOTTOM
HEIGHT |SECTIONS | (eact JAMB) OF TRACK (ALL DIMENSIONS * 27)
6—6" 4 7 JB=US), 10~ (JB-US), 21-3/4" (JB-US), 26-3/4" (JB-US), 39" (JB-US), 48" (
7-0"] ¢ 7 " (JB=US), 10" ($8-US), 21-3 4 JB=US). 20-3 4 JB—US), 42" (J6-US), 52-1/2 B-US), e3—1 '+ (JB—US,
7671 5 9 J5-US), 107 (J5-US). TB=3/% ;
-0 5 9 JEUS). 10" (JB-US). 21—3/4" (J—US). 25-3 4
) [SEE NOTE BELOW

SERIES 170-177,

COMPLIES WITH THE REQUIREMENTS OF IBC/IRC 2018.

Digitally signed by John E. Scates, P.E.
Date: 2021.04.13 11:32:51 -05'00'

180-187,

THE DRAWINGS AND ALL OTHER INFORMATION OONTAINE HEREIN ARE THE CONFIDENTIAL AND FMEI'ARY PROPERTY OF
TO ANYONE WITHOUT

NOTE:
(JB-US) FOLLOWING DIMENSION DENOTES SLOTTED JAMB BRACKET ATTACHED TO TRACK WITH 1/4—20x8/16" TRACK BOLT AND NUT AS SHOWN ABOVE.
ALL DOORS GREATER THAN 8 IN HEIGHT REQUIRE USE OF CONTINUOUS WALL ANGLE. SEE SUPPLEMENT TRACK CHART FOR DETAILS.

SHEET 2 FOR HINGE AND STILE
LOCATIONS ON OTHER SIZE DOORS.

STATIC PRESSURE RATINGS

APPROVED SIZES

1400, 1440, 1500, 1540

DESIGN PRESSURE(PSF): 34.4/-38.3

MAX WIDTH: 16’
MAX HEIGHT: 14’

AND II-'DRMATDN IN WHOLE OR IN Wk MANNER OR

Y NOT BE COPIED IN ANY
IS DRAWING To

IMPACT/CYCLIC RATED: YES
WRITTEN CONSENT OF

THE PRIOR
OPERKI'EASALICEIEORMJTH]RIZATDNTOLEHmRMYPUmmmTHES’EUF‘CWRmmOF

noon CORPORATION AND ITS AFFILIATED OOMFANES THIS WNG
OVERHEAD DOOR CORPORATION. DISCLOSURE OF

MAX SECTION HEIGHT: 217

WERIEAD DOOR_CORPORATION.

REF_DMG

8 | 7

6

| SERES 170, 180ML
,,G,; T’:T‘°R 1:; ;:; 1: WS7, 16' MAX WIDE
1 " p—_
e ®= D— 411048
T. CLARK 4/12/21 [z 1.5, | s JoF
1



[> notes

12 GA ROLLER SLIDE ATTACHED TO
BRACKET WITH 5/16—18 BOLT & NUT
IN CENTER SLOT AND 1/4—20x9/16"
TRACK BOLT & 1/4—20 HEX NUT
THROUGH ANY TWO ALIGNING HOLES

SR) 12 GA COMMERCIAL ‘A’

AME TOP BRACKETS EACH
ATTACHED WITH (4) 1/4—14x7/8"
SELF DRILLING CRIMPTITE SCREWS:

ADD (2) 1/4-14x7/8"
SELF DRILLING CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HINGE;

2" STEEL ROLLER WITH 9" GRADE
1144 OR EQUIVALENT STEM AND
7/16” PUSHNUT AT EACH ROLLER
LOCATION. 1/4" MAX BETWEEN
PUSHNUT AND BRACKET OR HINGE.
OPTIONAL— 11 BALL BEARING
NYLON ROLLER WITH 9" GRADE
1144 OR EQUIVALENT STEM

#1 HINGE IS 14 CA

#2 HINGE IS 13 GA

#3 HINGE (AND ALL ABOVE)
ARE 13 GA WIDE BODY END
HINGE ATTACHED WITH (4)
1/4-14x5/8" SELF TAPPING
SCREWS

14 GA WIDE BODY

INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x5/8" SELF
TAPPING SCR

12 GA EXTENSION BRACKET
ATTACHED WITH (3) 1/4—14x7/8"
SELF DRILLING CRIMPTITE SCREWS
(2 THROUGH STRUT AND BRACK

14 GA BOTTOM BRACKET
ATTACHED WTH (4)
1/4—14x7/8" SELF DRILUNG
CRIMPTITE_SCREWS (2) OF
WHICH IS THROUGH STRUT AND
AND (1) 1/4—14x5/8" SELF
DRILLING RED SCREW

Wﬂm‘

IDQ-DQ-D%DI'

14 & 15’

DIDIDEID ==

INTERIOR FRAME

SHEETMETAL SCREW

\ PLACE 3" U-BAR OVER LOW

HEADROOM BRAG(EI' A'I'I'AOH THRU

m .

\\

/,L1 /4" POLYCARBONATE

L

JOHN E. SCATES, PE
2560 KING ARTHUR BLVD #124-54
LEWISVILLE, TX 75056

DETAL E

mD
SELF DRILLING Cl

AND INFORMATION,

THE DRAWINGS AND ALL OTHER INFORMATION WNTAINED HEREIN ARE THE CONFIDENTIAL AND szrmr PROPERTY DF
TO ANYONE WITHOUT
ANY OF INTENDED

N VHOLE OR N PATT, o
FORMATION ' Y

()

RIMPTITE SCREWS.

/4—14x7/a

THIS DRAWING

PROFESSIONAL ENGINEER'S SEAL PROVIDED oNLY FOR FL PE 51737
VERFICATION OF WINDLOAD CONSTRUCTION TX PE 56308 /F2203

REF_DMG

13 GA ADWSTABLE
TOP FIXTURE

DETALL F

Y NOT BE COPIED IN ANY
T0 OP!

MANNER OR E PRIOR
mrEASAucnsEonmnmmuTol&nmnwwmmmmsﬁur‘cmmmwmmmmm

U-BAR LOCATIONS

(8) SECTION DOORS WITH
(12) 3° 18 GA B0 kS U_BARS \
AS SHOWN

(7) SECTION DOORS WITH
(11) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(6) SECTION DOORS WI
(8) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS WI
(8) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(6) 3" 18 GA 80 KSI
U-BARS LOCATED

AS SHOWN

ATTACH U-BAR WITH
(2) 1/4-14x7/8" SELF

DRILLING CRIMPTITE SCREWS
AT EACH STILE LOCATION, TYP.

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): 34.4/-38.3

MAX WIDTH: 16’
MAX HEIGHT: 14’

IMPACT/CYCLIC RATED: YES

WRITTEN CONSENT OF

DO(R CORPORATION AND ITS AFFILIATED WMFANES THIS DRAWING
OVERHEAD DOOR RATION.

MAX SECTION HEIGHT: 217
DISCLOSURE OF

NE
| SERES 170, 180WL
,,G,; T’:T‘°R 10/15/10] 57, 16" WAX. WIDE
M. SAWICKI | 10/25/10 |
o Wax D—411048
T. CLARK 4/12/21 [sowe  N.I.S, | *e= 2or 2

1



		2021-04-13T11:32:03-0500
	John E. Scates, P.E.


		2021-04-13T11:32:20-0500
	John E. Scates, P.E.


		2021-04-13T11:32:51-0500
	John E. Scates, P.E.




